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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O g=0d=sge ddial 4 Ol
50,000& = 409! = 23| 4,000
SHYUMEES AL 31,080 30,912 168
< 4,662
[ia 26,418
201 £B-2%H| 31,080 30,912 168
< 4,662
s 26,418
01 At 22/l 31,080 30,912 168
O S=s0HUANEESAMY
31,080,000& * 14 31,080
< 4,662
s 26,418
sgeltdeis K& 285,000 285,000 0
< 62,700
[ia 222,300
301 LAz 285,000 285,000 0
< 62,700
s 222,300
02 ¥et=stit= 285,000 285,000 0
O sy stisX
285,000,000& * 14 285,000
< 62,700
s 222,300
sSEZZNH 148,800 48,290 100,510
101 @124 dl 109,800 0 109,800
04 JIZHHZ22XNSE+ 109,800 0 109,800
O BMG Fazsnel A2
61,0003 = 300& = 6¢! 109,800
206 M= Hl 39,000 48,290 A9,290
01 M2 4l 39,000 48,290 A 9,290
O 23X =H JJH=S RIIEHE 3=
20,0002 = 9501 19,000
O 3&a=s A 2Ll 800,000& = 25ha 20,000
Z2AEHEZ 118,578 96,854 21,724
= 59,289
< 17,787
s 41,502
301 gt d= 118,578 96,854 21,724
= 59,289
< 17,787
s 41,502
NJIEEd=s 118,578 96,854 21,724
O Z2ABAHAZHAY 118,578,000 * 14 118,578
= 59,289
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< 17,787
s 41,502
SXOIEEH ALK& 30,482 30,482 0
J| 30,482
101 @14 dl 28,348 28,348 0
J| 28,348
04 JIZHHZ2XRHEE S 28,348 28,348 0
O sXOISAEHEZALRIE  28,348,000& » 14 28,348
J| 28,348
201 Let2d] 2,134 2,134 0
J| 2,134
01 At 22l 2,134 2,134 0
O sXOISAEHXZAXA 2,134,000& = 14 2,134
J| 2,134
=& ZS0l0ISsS4dH 22 N (S2S0t0IsSHH) 22,600 22,600 0
= 22,600
307 21201 A 22,600 22,600 0
= 22,600
02 B AAFEX 22,600 22,600 0
O s& 2s0l0l=sdH 29l
22,600,000 = 14l 22,600
= 22,600
S AKX 6,440 4,860 1,580
201 et 4,440 4,860 A 420
01 At 2teltl 4,440 4,440 0
O SANURX E22 M (M)
20,000& * 150= 3,000
O SANURX EE2SHE(HE)
30,000 * 484 1,440
301 et A= 2,000 0 2,000
09 &AL HI B &S 2,000 0 2,000
O Esux 243 eldd sS40E NsES
04 bl 50,000& = 501 * 2& * 43 2,000
sEZ= 24 N (M2EUE) 28,800 28,800 0
= 14,400
< 4,320
e 10,080
307 glz2+ol & 28,800 28,800 0
= 14,400
< 4,320
e 10,080
02 QB HAANGEEE 28,800 28,800 0
O =M=ZMELS MRE s XNIAALY
1,200,000 » 2004 = 120H& 28,800
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308 AHXIEHHSOIA 120,000 0 120,000
07 IXNHMAR S = 120,000 0 120,000
O sHEXEDIS 120,000,000& * 13 120,000
Hs X& 131,200 0 131,200
201 -4l 8,200 0 8,200
01 At 22l 1,200 0 1,200
O Asd3&&c=s 82 2dtE MA
60,000& = 20 = 10S™ 1,200
03 &Ar2 I 7,000 0 7,000
O = FAsAzwes 222 29
7,000,000& = 13l 7,000
301 et d = 119,000 0 119,000
09 HALAHIEA S 4,000 0 4,000
O s =g dsus 4 ol
50,000& = 10Q! = 23| » 2 2,000
O AsHE =3 It ol
50,000& = 209! » 2 2,000
MIIEEE= 115,000 0 115,000
O Fse FHTAS 3,000,000& = 30AICH 90,000
O Asel F=e==clHl 5,000,000& = 5AlICH 25,000
307 glz2tol & 4,000 0 4,000
02 It HAMHEE 4,000 0 4,000
O A=s2¢Hd 24d3X&  4,000,000& » 14 4,000
NAZSRsgFLEH 2te 200,000 0 200,000
= 100,000
< 30,000
e 70,000
101 @124 dl 50,000 0 50,000
= 25,000
< 7,500
e 17,500
04 JI1ZtHZ22HEE = 50,000 0 50,000
O NAHESsEreEH 2L
50,000,000& * 14l 50,000
= 25,000
< 7,500
s 17,500
401 A& HIZ 2018 150,000 0 150,000
= 75,000
< 22,500
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SHE MAL. RS2 9,146,432 5,653,373 3,493,059
= 4,272,412
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& 705,185
= 4,068,835
TEAsME MUAKSIE 7,314,332 3,506, 369 3,807,963
= 4,256,749
= 426,431
= 2,631,152
SIIEH XA 1,134,584 1,134,584 0
= 567,292
= 567,292
206 M = H| 1,134,584 1,134,584 0
= 567,292
= 567,292
01 X2 H| 1,134,584 1,134,584 0
O dstd3sHMH(IEH )X
1,134,584,000& = 14! 1,134,584
= 567,292
= 567,292
EXMEH XS 366,594 366,594 0
= 256,616
== 32,994
= 76,984
206 M = Hl 366,594 366,594 0
= 256,616
= 32,994
= 76,984
01 X2 H| 366,594 366,594 0
O MSIASAM(ELINH )X A
366,594,000 = 14 366,594
= 256,616
= 32,994
= 76,984
MASBEDNIENFEINE= 1,867,140 0 1,867,140
= 1,867,140
301 LBt A= 1,867,140 0 1,867,140
= 1,867,140
11 JIEtE A= 1,867,140 0 1,867,140
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= 1,082,400
= 81,180
= 189,420
11 JIEtE A2 1,353,000 0 1,353,000
O ZXAH=e|NEE=22  1,353,000,000& = 14! 1,353,000
= 1,082,400
= 81,180
= 189,420
g=HAE=E2 33,536 33,536 0
= 33,536
301 et A= 33,536 33,536 0
= 33,536
11 JIEtE A= 33,536 33,536 0
O g&sgaEa 33,536,000& = 14! 33,536
= 33,536
HEtA=HAE 44 375 44,375 0]
= 44 375
301 et A= 44 375 44 375 0
= 44 375
11 J|EtE A S 44 375 44,375 0]
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== 187,440
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11 JIEtE2 A= 935,440 235,880 699,560
O detdsits s
235,440,000€ = 14 235,440
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O dEtdsHHX ZLEAY
700,000,000 = 14! 700,000
& 140,000
= 560,000
XNEetdzsd s 82,210 475,140 A 392,930
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1,000& = 2,0008 2,000
O retdsy AdsIF 92X MHE
3,000& * 7008 2,100
O &etd dols 2 E2 Edoe M
70,000& * 1200 = 23] 1,680
O MIIRY0l S=2AMgE 222 H&
1,000& = 2,0008 2,000
O H EEZ MU 22 Ed2te M=
70,000& * 1200 = 23| 1,680
301 LBt A= 6,750 15,700 A 8,950
09 HAIAHI EAZ 2,500 15,700 A 13,200
O s, & sl 2te3 & 9ol &4 HA
50,000& * 521 % 103 2,500
11 JIEtE A2 4,250 0 4,250
O XEtdsHOHR sgelnsg &4 B4
0,000& = 50¢! 2,500
O destBd=sTM MIIME B &HA Ba
50,000& * 209! = 13| 1,000
O &2 Motz gns 34 24
50,000& = 15¢I! 750
307 212t0| & 66,000 132,000 A 66,000
02 QIZHEAAIRE E X 42,000 132,000 A 90,000
O MOz |RIIs(SA, H)MAHT X
30,000,000 = 2004 = 70/100 42,000
05 QIZ2tREF 2 24,000 0 24,000
O DY SEH M HollSHH F2A
! 30,000,000& = 141 %= 80/100 24,000
EtHASAE EEEA A2 KSAY 6,000 0 6,000
o 3,000
= 3,000
201 et d| 6,000 0 6,000
= 3,000
= 3,000
03 HAI2 HHI 6,000 0 6,000
O @AM 2ERA X2 X
6,000,000& = 1A 6,000
= 3,000
= 3,000
Slls s AE A=H 454 065 457,065 A 3,000
& 91,413
= 362,652
301 et A= 454 065 457,065 A 3,000
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Sl HBASNE YURSKY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O 2=z d=ss435= Nd3Negd
3t AHY 18,000,000% * 5&= * 80/100 72,000
402 BI2HX=01 M 133,000 0 133,000
01 2IZF 2 A B (KR 133,000 0 133,000
O Jtstidl &8 2F XX
3,000,000& * 303 * 70/100 63,000
O XNz 22 S o m3Y &3
A& 100,000% * 200m * 5ha * 70/100 70,000
sgAE 1d 189,250 0 189,250
402 RI2FXt20| ™ 189,250 0 189,250
01 212t 2 A B (RERTH ) 189,250 0 189,250
O =Jtas8 28=sJ1H XN
4,000,000 * 50CH * 50/100 100,000
O 9Ml=s Mol ARIotSA AE X
5,100,000& * 25& * 70/100 89,250
ABIHSHRSXE 1,832,100 2,147,004 A 314,904
= 15,663
Xl 100,000
= 278,754
i 1,437,683
StugAZEIsaESAME IR 745,913 759,643 A 13,730
< 223,771
s 522,142
308 XtXIEHH SOl A 745,913 759,643 A 13,730
< 223,771
s 522,142
0B uFJ&0UstE=x 745,913 759,643 A 13,730
O StR3A HBBSMS ATHE XNAY
1,243,187,000& * 60/100 745,913
< 223,771
[ia 522,142
GAPIS st &F=s, S35, MHHEL, WHHE=+ 3,001 3,318 A317
ZAHHl X &
= 2,100
= 271
s 630
301 et d = 3,001 3,318 A317
= 2,100
< 271
s 630
NJIEEd=s 3,001 3,318 A317
O GAPUESSIt &Fs2, S35, MHEY,
Ml &= ZAtdl XI& 150,050& * 20A 3,001
= 2,100
< 271
s 630
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stngal et AlIAE 25 XI& 16,500 12,575 3,925
< 4,950
s 11,550
201 £B-2d| 16,500 12,575 3,925
< 4,950
s 11,550
01 At 22/l 16,500 12,575 3,925
O sngal ot AlAE SRR
250,000& = 66A 16,500
< 4,950
s 11,550
GAP 21EsIH ME===2 XI& 3,086 280 2,806
= 1,543
= 463
s 1,080
301 gt 4= 3,086 280 2,806
= 1,543
< 463
[ia 1,080
1MIIEESS 3,086 280 2,806
O GAPI S s dlE =2 K&
140,272& » 22A 3,086
= 1,543
< 463
s 1,080
SEMA S EAY 220,000 640,000 A 420,000
Xl 100,000
< 24,000
s 96,000
307 21201 A 220,000 640,000 A 420,000
Xl 100,000
< 24,000
s 96,000
02 It M AHE L 220,000 640,000 A 420,000
O SEMISHANL(BME S2FE HISHA
) 220,000,000& * 14 220,000
X 100,000
< 24,000
s 96,000
ssEg4s N 321,000 0 321,000
307 21201 A 141,000 0 141,000
02 It S AHE L 141,000 0 141,000
O sittE2 RSSJH X&
60,000,000& =141 = 50/100 30,000
O 2EXHIUZ Holdeds X3
142,000,000& * 141 = 50/100 71,000
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